
- 1 7

CL
AS

S

SCIENCE APTITUDE TEST (2018)
Maximum Marks. :  240

Phase - II

Time : 2 Hours

JEE MAIN & ADVANCED | NEET & AIIMS | PRE-FOUNDATION | FOUNDATION
IIT ASHRAM

ALKAPURI  : UG–1 & 2, Concorde Complex, Above OBC Bank. R.C. Dutt Road., Alkapuri Baroda. Ph. 6625979, 9033063029

MAKARPURA :  SF-1 to 12, Kabir Plaza, Above IDBI Bank, Bhavan’s Makarpura Road, Mob. 9227666620, 9033063028
ANAND : B N Little World, Unit 2, Shri VansolSattyavis Patidar Samaj  Building, Near Bank of Baroda, Nana  Bazar, V.V. Nagar 9227777098
NADIAD : Futuregenic Education Pvt. Ltd. 2nd Floor, Landmark Mall. Uttarsands Road, Nadiad.

www. iitashram.com | Email:- iitashram.2011@gmail.com

Please read the instructions carefully. You are allotted 5 minutes specifically for this purpose.
A. GENERAL :

1. This booklet consists of 60 questions.
2. Blank papers, clipboards, log tables, slide rules, calculators, cellular phones, and electronic gadgets in any form

are not allowed to be carried inside the examination hall.
3. The answer sheet, a machine–readable  Optical Mark Recognition (OMR), is provided separately.
4. Do not tamper with / mutilate the OMR or the Booklet.
5. Write Name and Address in capital letters on OMR sheet.
6. Submit the OMR Sheet back to Invigilator after examination before leaving the examination hall.
7. Previous year or Term exam’s percentage | grade | Marks scored in Maths and Science must be written at the

back of OMR Sheet

B. QUESTION PAPER FORMAT:
8. The question paper consists of 2 Parts.

(I)   Part - I : Mental Ability & Mathematics  (30 Questions)
(II)  Part - II : Physics , Chemistry & Biology  (30 Questions)

C. Marking Scheme :
9. For each question in Part   I and II you will be awarded 4 marks if you have darkened only the  bubble corresponding

to the correct answer and zero mark if no bubble is darkened. In all other cases where the answer marked is not
correct, minus one (–1) mark will be awarded.

IMPORTANT INSTRUCTIONS
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PART I
Directions : (1) Find the wrong term (s) :
1. DOU, EPV, FQW, GRX, HTY, ITZ

(a) FQW     (b) GRX (c) HTY (d) EPV
Directions : (2 - 4) Find the missing numbers :

2.

(a) 125 (b) 216 (c) 121 (d) 225
3. 1, 4, 9, 16, 25, ?

(a) 36 (b) 49 (c) 47 (d) 35
4. 4, 7, 3, 6, 2, 5, ?

(a) 4 (b) 7 (c) 8 (d) 1
5. In a certain code, C is coded as 0, E as 7, T as 4,

I as 9, P as 1, R as 3, and U as 5.
How is 1904537 coded in that code ?
(a) PICTRUE (b) PICTURE
(c) RICTPUE (d) PCTUREI

6. I went 15 m to the North, then turned West and
covered 10 m, then turned South, and  covered 5
m then turned East and covered 10 m. In which
direction am I now from my house?
(a) North (b) South
(c) East (d) West

7. How many squares are there in the following fig-
ure ?

(a) 13 (b) 14 (c) 16 (d) 15

PART I
ãÊ×âáí ð (1) ¼íÃçï ÍÊ ×íËíð

1. DOU, EPV, FQW, GRX, HTY, ITZ
(a) FQW     (b) GRX (c) HTY (d) EPV

ãÊ×âáí ð (2- 4) ¼èÃÈä ÖïKÒâ ×íËíð

2.

(a) 125  (b)  216 (c) 121 (d) 225
3. 1, 4, 9, 16, 25, ?

(a) 36 (b) 49 (c) 47 (d) 35
4. 4, 7, 3, 6, 2, 5, ?

(a) 4 (b) 7 (c) 8 (d) 1

5. ¿í>Ö áï»ÌÑâï C Ìçï áï»Ì 0, E Ìçï 7, T Ìçï 4, I Ìçï 9, P Ìçï
1, R Ìçï 3, áÌë U Ìçï 5 Àë, Èí 1904537 Ìçï áï»Ì áâ »íÅÑâï
×çï ÚíÒ¬

(a) PICTRUE (b) PICTURE
(c) RICTPUE (d) PCTUREI

6. Úçï 15 ÑäÃÓ é^âÓÑâï ½Òí ÍÀä ÍãW¿ÑÑâï ÕLÒí áÌë 10 ÑäÃÓÌçï
áïÈÓ »âÍë Àë ÍÀä Èë ÊãÜÇÑâï ÕÛë Àë áÌë 5 ÑäÃÓÌçï áïÈÓ
»âÍäÌë Èë ÍèÕôÑâï ÕÛë Àë áÌë 10 ÑäÃÓÌçï áïÈÓ »âÍë Àë, Èí Úçï ÑâÓâ
¾ÓëÉä »æ ãÊ×âÑâï ÚÑÇâï Àçï¬

(a) é^âÓ (b) ÊãÜÇ

(c) ÍèÕô (d) ÍãW¿Ñ

7. Ìä¿ëÌä áâ»öãÈÑâï »ëÃÔâ ¿íÓÖ Àë¬

(a) 13 (b) 14 (c) 16 (d) 15

For Rough Work
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Directions : (8) In each of the following questions,
choose the correct mirror image from alternatives A,
B, C and D of the Word / figure (X).

8.

(a) (b)

(c) (d)

9. Consider the following three figures, marked X,
Y, Z showing one fold in X, another in Y and cut
in Z. From amongst the answer figures A, B, C
and D, select the one, showing the unfolded po-
sition of Z.

(a) (b)

(c) (d)

ãÊ×âáí ð (8) Ìä¿ëÌâ ÊÓë» ÍýWÌÑâï áâ»öãÈ (X) Ìâ ãÕ»lÍ A, B,
C áÌë D Ìâ ×bÊ áÉÕâ áâ»öãÈÌçï Öâ¿çï ÍýãÈãÏïÏ ÍÖïÊ »Óí.

8.

(a) (b)

(c) (d)

9. Ìä¿ëÌä ÝÇ áâ»öãÈáí X, Y, Z »ë Áë áïã»È »ÓëÔä Àë ÈëÌë
DÒâÌÑâï Ôí »ë Áë  X Ñâï áë» ÕÛ, Y Ñâï Ïä’ë áÌë  Z Ñâï »âÍëÔ
Àë. Èí ÁÕâÏÌä áâ»öãÈ A, B, C áÌë D ÑâïÉä áë»Ìë ÍÖïÊ
»Óí »ë Áë Z Ìí Ì ÕÛëÔ Ðâ½ Ê×âôÕë.

(a) (b)

(c) (d)

For Rough Work
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10. Select a suitable figure from the Answer Figures
that would replace the question mark?

(a) 1 (b) 2 (c) 3     (d) 4
11. The side of a square with perimeter 80 cm is___

(a) 10 cm (b) 8 cm
(c) 20 cm (d) 5 cm

12. The sum of three angles of a triangle is__
(a) 270º (b) 90º (c) 180º (d) 360º

13. The sum of
1 1 1, and
2 4 8

 is

(a)
4
8

(b)
5
8

(c)
3
8

(d)
7
8

14.
35

1000
 can be writtern as:

(a) 0.00035 (b) 0.35
(c) 0.035 (d) 3.5

15. The value of
1 1 3 152 1
4 2 8 16
    is___.

(a)
69
16

(b)
60
15

(c)
39
16

(d)
47
16

10. ÍýWÌâÉô ã¿ÚzÌÌä ÁgÒâáë ÁÕâÏ áâ»öãÈÑâïÉä ÒígÒ áâ»öãÈ
ÍÖïÊ »Óí.

ÍýWÌ áâ»öãÈð

ÁÕâÏ áâ»öãÈð

(a) 1 (b) 2 (c) 3     (d) 4

11. ÁëÌä ÍÓäÑäãÈ 80 cm Àë ÈëÕâ ¿íÓÖÌä ÏâÁç______Àë

(a) 10 cm (b) 8 cm
(c) 20 cm (d) 5 cm

12. ãÝ»íÇÌâ ÝÇëÒ ¼èÇâÌí ÖÓÕâÛí________ Àë

(a) 270º(b) 90º (c) 180º (d) 360º

13.
1 1,
2 4  áÌë

1
8   Ìí  ÖÓÕâÛí

(a)
4
8

(b)
5
8

(c)
3
8

(d)
7
8

14.
35

1000
Ìë Ô¼ä ×»âÒ

(a) 0.00035 (b) 0.35
(c) 0.035 (d) 3.5

15.
1 1 3 152 1
4 2 8 16
   Ìä ã»ïÑÈ........

(a)
69
16

(b)
60
15

(c)
39
16

(d)
47
16

For Rough Work
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16. If 100 pencils can be packed in a box, to pack
6000 pencils, we will need___
(a) 100 boxes (b) 6 boxes
(c) 60 boxes (d) 10 boxes

17. The product of three integers is (–85). If two of
the integers are (– 17) and (– 5), find the third.
(a) 5 (b) 7 (c) – 1 (d) 1

18. The difference between 1 % of 100 and 100% of
1 is
(a) 0 (b) 1
(c) 100 (d) none of these

19. Which of the following is not true for a linear
pair of angles?
(a) They are adjacent
(b) They are supplementary
(c) They are complementary
(d) They have a common vertex

20. Arrange 12.142, 12.124, 12.104, 12.401 and
12.214 in ascending order.
(a) 12.104 < 12.124 < 12.142 < 12.214 < 12.401
(b) 12.124 < 12.104 < 12.142 < 12.401 < 12.214
(c) 12.142 < 12.104 < 12.124 < 12.401 < 12.214
(d) 12.401 < 12.214 < 12.142 < 12.124 < 12.104

16. ’ë 100 ÍëãnÖÔÌë áë» Ïí»ÖÑâï Íë» »ÓÕâÑâï áâÕë Àë Èí6000
ÍëãnÖÔÌë Íë» »ÓÕâ áâÍÇë________ Ïí»Ö ’ëæáë.

(a) 100 Ïí»Ö (b) 6 Ïí»Ö

(c) 60 Ïí»Ö (d) 10 Ïí»Ö

17. ÝÇ   ÖïKÒâÌí   ½çÇâ»âÓ (–85)  Àë.  ’ë  Ïë  ÖïKÒâáí (– 17)
áÌë (– 5) Èí Ýä‘ ÖïKÒâ ×íËí.

(a) 5 (b) 7 (c) – 1 (d) 1
18. 100 Ìâ 1 % áÌë 1 Ìâ 100% Õc¿ëÌí ÈÎâÕÈ Àë.

(a) 0 (b) 1
(c) 100 (d) áë»ÍÇ ÌãÚ

19. ¼çÇâáíÌä Óìã¼» ’ëÅ ÑâÃë Ìä¿ëÌâÑâïÉä »Òçï Öâ¿çï Àë¬

(a) Èëáí áë»Ïä’Ìä Ì‘» Àë

(b) Èëáí ÍèÓ» Àë

(c) Èëáí áãÐ»íÇ Àë

(d) Èëáí ÖÑâÌ ÏâÁç ËÓâÕë Àë

20. ¿ÅÈâ »ýÑÑâï ½íÄÕí 12.142, 12.124, 12.104, 12.401
áÌë 12.214

(a) 12.104 < 12.124 < 12.142 < 12.214 < 12.401
(b) 12.124 < 12.104 < 12.142 < 12.401 < 12.214
(c) 12.142 < 12.104 < 12.124 < 12.401 < 12.214
(d) 12.401 < 12.214 < 12.142 < 12.124 < 12.104

For Rough Work
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21. Two regular Hexagons of perimeter 30cm each
are joined as shown in the fig. The perimeter of
the new figure is

(a) 65 cm (b) 60 cm
(c) 55 cm (d) 50 cm

22. In the following figure , all traingles are
equilateral and AB = 8 units. Other triangles have
been formed by taking the mid points of the sides.
What is the perimeter of the figure?

(a) 66 unit (b) 45 unit
(c) 60 unit (d) None

23. Concentric circles have the same.........
(a) radius (b) diameter
(c) centre (d) chord

21. 30cm ÍÓäÑäÈäÕâÛâ Ïë ãÌÒãÑÈ ØÃ»íÇÌë áâ»öãÈÑâï
Ê×âôÕëÔ Àë. Èí ÌÕä áâ»öãÈÌä ÍÓäÑäÈä.

(a) 65 cm (b) 60 cm
(c) 55 cm (d) 50 cm

22. áâ»öãÈÑâï ÏËâ Á ãÝ»íÇí ÖÑÏâÁç ãÝ»íÇí Àë áÌë AB=8
áë»Ñ Àë. Ïä’ ãÝ»íÇí ÏâÁçáíÌâ ÑDÒãÏïÊçáíÉä ÏÌâÕëÔ
Àë. Èí áâ»öãÈÌä ÍÓäÑäÈä.................

(a) 66 unit (b) 45 unit
(c) 60 unit (d) None

23. ÖÑ»ën¨ä ÕÈçôÛíÌë................ ÖÑâÌ ÚíÒ

(a) ãÝÁÒâ (b) vÒâÖ

(c) ÕÈçôÛ (d) ‘Õâ

For Rough Work
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24. The roman Numeral for 2409 is........
(a) MMCCCCIX (b) MMCDIX
(c) MCCCCX (d) None of these

25. The value of 7 – (– 2) + 15 – 112 + (– 17) – 1 is
(a) 100 (b) – 106 (c) 123 (d) – 114

26. Perimeter of the figure is :

(a) 23 cm (b) 24 cm
(c) 25 cm (d) 26 cm

27. The greatest and the smallest numbers that can
be made with the digits  4, 1, 8, 3, 6, 7 are
(a) 867431, 143678 (b) 876431, 134678
(c) 843176, 678341 (d) 867134, 143678

28. P  In the given figure point P is

called
(a) intersecting point (b)  point of concurrence
(c) collinear (d) plane

24. 2409 ÑâÃë ÓíÑÌ ÖïKÒâ
(a) MMCCCCIX (b) MMCDIX

(c) MCCCCX (d) éÍÓÌâ Íì»ä áë»ÍÇ ÌãÚ

25. 7 – (– 2) + 15 – 112 + (– 17) – 1 Ìä ã»ïÑÈ........
(a) 100 (b) – 106 (c) 123 (d) – 114

26. áâ»öãÈÌä ÍÓäÑäÈä.

(a) 23 cm (b) 24 cm
(c) 25 cm (d) 26 cm

27. 4, 1, 8, 3, 6, 7 Ìí êÍÒí½ »ÓäÌë ÑÛÈä ÑÚÈÑ áÌë
nÒèÌÈÑ ÖïK¥â   ________
(a) 867431, 143678 (b) 876431, 134678
(c) 843176, 678341 (d) 867134, 143678

28. P áâÍëÔ áâ»öãÈÑâï  P_______ Àë.

(a) ÀëÊÌ ãÏïÊç (b) éÊÐÕ ãÏïÊç

(c) Óë¼äÒ (d) ÖÑÈÔ

For Rough Work
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29. Count the number of line segments in each of
the following figures and match them with their
numbers
Group - A Group - B

A)

A

B CD

i)  10

B)

A B

CD

O ii)  12

C)

A

E F

GH

B

CD
iii)  5

D)

A

B

C D

E

iv)  8

v)  16
(a)  A - i,  B - ii,  C - iv,  D - iii
(b)  A - iii, B - iv, C - ii,  D - i
(c)  A - iv,  B - i,  C - iii, D - ii
(d)  A - i,   B - iv, C - iii, D - ii

30. Match the following:
Group - A Group - B
1) 69° A) obtuse angle
2) 91° B) reflex angle
3) 359° C) complete angle
4) 360° D) acute angle
(a)  1 - D, 2 - A, 3 - C, 4 - B
(b)  1 - D, 2 - C, 3 - B, 4 - A
(c)  1 - C, 2 - D, 3 – B, 4 - A
(d)  1 - D, 2 - A, 3 - B, 4 - C

29.Ìä¿ë áâÍëÔ ÊÓë» áâ»öãÈáíÑâï Óë¼â¼ïÅÌä ÖïKÒâ ½Çí áÌë
ÈëÑÌä ÖïKÒâ ÖâÉë ÑëÛ ÍâÅíð

ÖÑèÚ - A ÖÑèÚ - B

A)

A

B CD

i)  10

B)

A B

CD

O ii)  12

C)

A

E F

GH

B

CD
iii)  5

D)

A

B

C D

E

iv)  8

v)  16
(a)  A - i,  B - ii,  C - iv,  D - iii
(b)  A - iii, B - iv, C - ii,  D - i
(c)  A - iv,  B - i,  C - iii, D - ii
(d)  A - i,   B - iv, C - iii, D - ii

30.ÒígÒ ÓäÈë  ’ëÅíð

Group - A Group - B
1) 69° A) ½ç#»íÇ

2) 91° B) ÍýãÈÕÈô »íÇ

3) 359° C) ÖïÍèÇô »íÇ

4) 360° D) Ô¾ç»íÇ

(a)  1 - D, 2 - A, 3 - C, 4 - B
(b)  1 - D, 2 - C, 3 - B, 4 - A
(c)  1 - C, 2 - D, 3 – B, 4 - A
(d)  1 - D, 2 - A, 3 - B, 4 - C

For Rough Work
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PART II
1. I’m so tired , I have no energy ; which energy

will help  me ?
(a) solar energy (b) chemical energy
(c) electrical energy (d) none of the above

2. The waves that are responsible for causing a
sunburn are
(a) visible light (b) infrared light
(c) ultraviolet light (d) X Rays

3. Energy stored in a body due to its position is called
(a) potential energy (b) chemical energy
(c) kinetic energy (d) heat energy

4. ______ is a push or pull and can make an object
stop, speed up, slow down, or change direction
(a) gravitation (b) work
(c) force (d) inertia

5. Two forces working in opposite directions, each
with a force of 20 N are  ____ .
(a) balanced (b) unbalanced
(c) uneven (d) different

6. Which of these best demonstrates the reflection
of light ?
(a) Looking at a light bulb that is glowing
(b) Looking at an image formed on a silver spoon
(c) Looking through the glass of a large window
(d) Looking at a star on a clear night

7. In the evening as it is getting dark Alex sits on
the front porch and watches the Sun slowly
disappear behind the neighbor’s house across the
street . Which of the following explains this
observation ?
(a) The Sun’s light is reflected by the clouds
(b) The Sun’s light is refracted by the atmosphere
(c) The Sun moves from west to east each day.
(d) The Sun appears to moves due to Earth;s
rotation

PART II
1. Úçï ¼èÏ Éâ»ä ½Òí Àçï, ÑâÓâÑâï ×ã»È ÌÉä, »Òâ Íý»âÓÌä

é’ô ÑÌë ÑÊÊ »Ó×ë¬

(a) ÖâìÓ é’ô (b) ÓâÖâÒãÇ» é’ô

(c) ãÕYçÈ é’ô (d) éÍÓÌâ áë»ÍÇ ÌãÚ

2. ÖèÒô ÏÛÈÓâ ÑâÃë ÁÕâÏÊâÓ ÈÓï½í »Òâ¬

(a) ¨SÒ Íý»â× (b) ÍâÓÊ×ô» Íý»â×

(c) ÍâÓ’ïÏÔä Íý»â× (d) Ü ã»ÓÇí

3. ÒïÝÑâï ÈëÌâ sÉâÌÌë ÔäËë Öï½ýÚâÒëÔä é’ôÌë »Úë Àë...

(a) ãsÉãÈ é’ô (b) ÓâÖâÒãÇ» é’ô

(c) ½ãÈ é’ô (d) éwÑâ é’ô

4. .............. áë Ë>í áÉÕâ ¼ëï¿âÇ áÌë Èë ÍÊâÉôÌë ãsÉÓ
»Óë, ½ãÈ ÕËâÓë, ËäÑí »Óë áÉÕâ ãÊ×â ÏÊÔë

(a) ½ç#tÕâ»ØôÇ (b) »âÒô

(c) ÏÛ (d) ÁÅÈâ

5. Ïë ÏÛí áë»Ïä’Ìä ãÕ#} ãÊ×âÑâï »âÒô »Óë Àë áÌë ÊÓë» ÍÓ
Ôâ½Èçï ÏÛ 20 nÒèÃÌ Àë Èëáí........... Àë

(a) ÖïÈçãÔÈ (b) áÖïÈçãÔÈ

(c) áÖÑâÌ (d) áÔ½-áÔ½

6. Íý»â×Ìâ ÍÓâÕÈôÌÌí ÙëwÄ áÕÔí»Ì »Òçï Àë¬

(a) Íý»â×Ìâ ½íÛâÌë Áçáí »ë Áë áÁÕâÛçï áâÍë Àë

(b) ¿âïÊäÌä ¿Ñ¿ä ÍÓ ÏÌÈâ ÍýãÈãÏïÏÌë Áçáí

(c) ÑíÃä ÏâÓä Ìë »â¿ ]âÓâ Áçáí

(d) ¿íK¼ä ÓâÝä ÈâÓâáíÌë Áçáí

7. ÖâïÁÌâ ÖÑÒë ÁÒâÓë áïËâÓçï ÉÒçï tÒâÓë áëÔë»Ö Ãí¿ôÌä ÖâÑë ÏëÖë
Àë áÌë  ÍíÛÌä ãÕ#} ÍÅí×äÌâ ¾ÓÌä ÍâÀÛ ËäÑëÉä á¨SÒ
ÉÈâ ÖèÒôÌë Áçáë Àë, áâ áÕÔí»Ì ×çï Öè¿Õë Àë¬

(a) ÕâÊÛí ]âÓâ ÖèÒôÌâ Íý»â×Ìçï ÍÓâÕÈôÌ

(b) ÕâÈâÕÓÇ ]âÓâ ÖèÒôÌâ Íý»â×Ìçï Õ»ýäÐÕÌ

(c) ÊÓë» ãÊÕÖë ÖèÒô ÍãW¿ÑÉä ÍèÕôÑâï ÐýÑÇ »Óë Àë

(d) ÍöTÕäÌâ ÍãÓÐýÑÇÌë »âÓÇë ÖèÒô ÐýÑÇ »ÓÈí Ôâ½ë Àë

For Rough Work
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8. Your shadow is  ______at sunset than at noon
(a) shorter (b) flatter
(c) longer (d) rounder

9. What is the sudden discharge of energy in a storm
called ?
(a) electricity (b) positive and negative
(c) lightning (d) thunder

10. Elements that are good conductors of heat and
electricity are called ____ .
(a) metals (b) ductile
(c) malleable (d) reactive

11 The good conductor of electricity is :
(a) Polythene (b) Dry wood
(c) Silver (d) Glass

12. What is the process by which ammonium chloride
changes into gas?
(a) Decantation (b) Sublimation
(c) Condensation (d) Sedimentation

13. Which of the following requires a sieve for
separating its constituents?
(a) Flour and bran of wheat
(b) Tea and its decoction
(c) Salt Solution
(d) Mixture of iron filing and sand

14. Which of the given properties/characteristics
metals have?
(a) Strong and hard (b) Soft and brittle
(c) Non-conductor of electricity
(d) Non-ductile

8. ÈÑâÓí ÍÅÀâÒí ÏÍíÓÌä ÖÓ¼âÑÇäáë ÖèÒâôsÈë....... ÚíÒ

(a) ÌâÌí (b) ÍÚíÛí

(c) ÔâïÏí (d) áËô ½íÛâ»âÓ

9. ÈíÎâÌÑâï áë»âáë» é’ôÌâ ÕäsÉâÌâïÈÓÇÌë ............ »Úë Àë

(a) ãÕYçÈ (b) ËÌ áÌë °Ç

(c) ÕäÁÛä (d) ÈíÎâÌ

10. ÈtÕí »ë Áë éwÑâ áÌë ãÕYçÈÌâ ÖâÓâ ÕâÚ» Àë ÈëÑÌë ...... »Úë Àë

(a) ËâÈçáí (b) ÈnÒÈâ

(c) ÕËôÌÈâ (d) Öã»ýÒ

11 ãÕYçÈÌâ ÖâÓâ ÕâÚ»............. Àë

(a) ÍíÔäÉäÌ (b) Öè»çï Ôâ»Åçï

(c) ¿âïÊä (d) »â¿

12. »æ Íýã»ýÒâ ]âÓâ áëÑíãÌÒÑ »ÔíÓâæÅ ÕâÒçÑâï #ÍâïÈãÓÈ ÉâÒ Àë

(a) ãÌÈâÓÇ (b) éDÕô ÍâÈÌ

(c) Öï¾ÌÌâ (d) áÕ×ëØä»ÓÇ

13. Ìä¿ëÌâÑâïÉä »Òâ »ÇíÌë áÔ½ »ÓÕâ ÑâÃë ¿âÛÇäÌä Á#Ó ÍÅë
Àë¬

(a) ÔíÃ áÌë ¾éïÌâ Ãç»Åâ

(b) ¿â áÌë ÈëÌí é»âÛí

(c) ÑäÄâÌçï ̈ âÕÇ

(d) Ôí¼ïÅÌä ¼äÔäáí áÌë ÓëÈäÌçï ãÑÙÇ

14. áâÍëÔ ÔâÜãÇ» ½çÇËÑíô ËâÈçáí ÑâÃë »Òâ Àë¬

(a) ÑÁÏèÈ áÌë Ö¼È (b) ÌÓÑ áÌë ÏÓÅ

(c) ãÕYçÈÌçï áÕâÚ» (d) ãÏÌ-ÏÓÅ
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15. Ìä¿ëÌâÑâïÉä »Òçï ãÕËâÌ sÎÃä»ä»ÓÇ ÑâÃë Öâ¿çï Àë¬

(a) Èë ÓâÖâÒãÇ» áÔ½ä»ÓÇ áÌë áÕ×ëØä»ÓÇÑâï Ðâ½ Ôë
Àë

(b) ×ç} ÍÊâÉíôÌâ sÎãÃ» ¿í>Ö ÐâìãÑãÈ» áâ»âÓ ÖâÉë ÏÌë
Àë

(c) ÍýÕâÚäÌä éÍÓ Ïâ»ä ÓÚëÔâÌë ̈ vÒ »Úë Àë

(d) Èë ¾Ì-¾Ì ãÑÙÇÌâ áÔ½ä»ÓÇÑâï Ðâ½ ÐÁÕë Àë

16.Ìä¿ëÌâÑâïÉä »Òçï ¨vÒ Ö¼È áÍâÓÊ×ô» áÌë ÁÒâÓë »âÍÕâÑâï
áâÕë Àë tÒâÓë ¿Û»ë Àë¬

(a) ÓÏÓ (b) Ôâ»Åçï

(c) ãÃÌ (d) pÔâsÃä»

17. Ìä¿ëÌâÑâïÉä »Òçï ÖâÑânÒ ÓäÈë áíÓÅâÌâ ÈâÍÑâÌë áÔ½-áÔ½
°ÈçÑâï ÈëÌä ÐâìãÈ» ãsÉÈäÑâï ÎëÓÎâÓ áÌçÐÕë Àë¬

(a) 5Óä×ç} ÈëÔ (b) »ëÓíÖäÌ ÈëÔ

(c) Ñ½ÎÛäÌçï ÈëÔ (d) ÌâãÛÒëÓÌçï ÈëÔ

18. Ìä¿ëÌâÑâïÉä »Òâ ÚÕâ ÍýÊçwâ»í áëãÖÅ Õwââô ÑâÃë »âÓÇÐèÈ Àë¬

(a) ËèÛ (b) »âÏôÌ ÓÁ»Ç

(c) ÖèxÑ ‘ÕâÇçáí (d) ÖlÎÓ ÅâÒí»ÖâæÅ

19. Ìä¿ë áâÍëÔ ÕëÌ áâ»öãÈÌí áBÒâÖ »Óíð

Ìä¿ëÌâÑâïÉä »æ Íýã»ýÒâ X ]âÓâ ÉâÒ Àë ÈëÌë áíÛ¼íð

(a) Ôí¼ïÅÌçï »ÃâÕÕçï (b) Ôâ»ÅâÌçï ÖÛ½Õçï

(c) ÑäÇÌçï áí½ÛÕçï (d) ÊèËÌçï #ÍâïÈÓ ÊÚäïÑâï ÉÕçï

15. Which of the given statement is true for
crystallization?
(a) It involves the chemical separation and
sedimentation.
(b) Crystals of pure substances are formed with
definite geometrical shapes.
(c) The left-over liquid is called solute.
(d) It involves separation of solid-solid mixture.

16.Which of the following material is hard, opaque
and shines when freshly cut?
(a) Rubber (b) Wood
(c) Tin (d) Plastic

17. Which of the following usually undergoes
changes in its physical state at room temperature
in different seasons?
(a) Refined oil (b) Kerosene oil
(c) Groundnut oil (d) Coconut oil

18. Which of the following air pollutants causes acid
rain?
(a) Dust (b) Carbon particles
(c) Microorganisms (d) Sulphur dioxide

19. Study the Venn diagram given below:

Identify which of the following process could be
X.
(a) Rusting of iron (b) Burning of wood
(c) Melting of wax (d) Milk changing to curd
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20. Which of the following is true about air?
I. Air is a mixture of several types of gases
II. Air exerts pressure
Ill. The composition of air is constant in the
atmosphere
(a) I and II only (b) II and III only
(c) only II (d) I, II and III

21. The food chain below relates to a garden habitat.
Select a producer and a consumer from this food
chain.

(a) Producer =ladybird,
Consumer = robin.

(b) Producer = aphid,
Consumer = ladybird.

(c) Producer = ladybird,
Consumer =rosebush.

(d) Producer = rosebush,
Consumer = ladybird.

22. Which of the following has no enzyme?
(a) Bile (b) Pancreatic juice
(c) Gastric juice (d) All of the above

23. The fluid present in brain and spinal cord for
shock absorption is
(a) Cerebro-spinal fluid
(b) Plasma
(c) Blood
(d) Lymph

20. Ìä¿ëÌâÑâïÉä ÚÕâ ÑâÃë »Òçï Öâ¿çï Àë¬

I. ÚÕâ »ëÃÔâ» Íý»âÓÌâ ÕâÒçáíÌçï ãÑÙÇ Àë

II. ÚÕâ ÊÏâÇ étÍnÌ »Óë Àë

Ill. ÕâÈâÕÓÇÑâï ÚÕâÌçï ÏïËâÓÇ á¿Û Àë

(a) I áÌë II Î»È (b) II áÌë III Î»È

(c) Î»È II (d) I, II áÌë III
21. Ìä¿ëÌä ¼íÓâ» Öâï»Û Ï½ä¿â áÌç»èÔÌ ÖâÉë Öï»ÛâÒëÔ Àë,

étÍâÊ» áÌë éÍÐí»Èâ Ìë Ìä¿ëÌä ¼íÓâ» Öâï»ÛÑâï ÍÖïÊ »Óí.

(a) étÍâÊ» =sÝäÍÜä (Ñâ¼ä)

éÍÐí»Èâ = ÓíÏäÌ

(b) étÍâÊ» =ÔäÔä Ñâ¼ä

         éÍÐí»Èâ = sÝäÍÜä (Ñâ¼ä)

(c) étÍâÊ» =sÝäÍÜä (Ñâ¼ä)

éÍÐí»Èâ = ½çÔâÏÌí ÀíÅ

(d) étÍâÊ» =½çÔâÏÌí ÀíÅ

éÍÐí»Èâ = sÝäÍÜä (Ñâ¼ä)

22. Ìä¿ëÌâÑâïÉä »íÇ étÖë¿»Ìçï éÊâÚÓÇ ÌÉä¬

(a) ÍäÈ (b) sÕâÊçãÍïÅÌí ÓÖ

(c) ÕâÒçÑÒ ÓÖ (d) éÍÓÌâ ÏËâÁ

23. Ñ½Á áÌë »ÓíÅÓ~ç ÑâÃë Ëýç’ÓäÌçï ×íØÇ »ÓÌâÓ ÍýÕâÚäÌë

(a) Ñ½Á ¨vÒ (b) pÔâÂÑâ

(c) ÔíÚä (d) ÔÖä»â
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24. The leaves are arranged in different ways in
different plants to get maximum exposure of the
sunlight. This arrangement is called ______.
(a) Venation (b) Phyllotaxy
(c) Geotropism (d) Phototropism.

25. When a person is hanged till death, which part
of the brain stops working and results in the
death of the person?
(a) Cerebrum (b) Cerebellum
(c) Medulla (d) Spinal cord

26. Two organisms are good friends and live together.
One provides shelter, water and nutrients while
other prepares and provides food. Such an
association of organisms is termed as
(a) Saprophyte (b) Parasite
(c) Autotroph (d) Symbiosis

27. Scurvy (bleeding gums) is caused by the
deficiency of _______.
(a) Vitamin A (b) Vitamin C
(c) Vitamin B (d) Vitamin D

28. Match Column-I with Column-II and select the
correct option from the codes given below.

Column-I Column-II
(a) Papier maché (i) Non-biodegradable
(b) Burning of wastes (ii) Vermicomposting
(c) Plastic (iii) Waste management
(d) Decomposing wastes using earthworm

(iv) Biodegradable
(e) Vegetable peels (v) Incineration.
(a) (a)-(v), (b)-(iii), c-(i), (d)-(ii), (e)-(iv)
(b) (a)-(iii), (b)-(v), c-(i), (d)-(ii), (e)-(iv)
(c) (a)-(ii), (b)-(iii), c-(iv), (d)-(v), (e)-(i)
(d) (a)-(i), (b)-(ii), c-(iv), (d)-(v), (e)-(iii)

24. ÑÚ^âÑ ÖèÒôÍý»â× ÑëÛÕÕâ ÑâÃë ÁçÊâ ÁçÊâ ÀíÅÑâïÉä ÍâïÊÅâÌä
½íÄÕÇä ÁçÊä-ÁçÊä ÚíÒ Àë. áâ ½íÄÕÇäÌë...........»Úë Àë.

(a) ÚÓÇ (b) ÎâÒÔíÃë»Öä

(c) ‘ÒíÃ÷äÍäÂÑ (d) ÎíÃíÃ÷íÍäÂÑ

25. ÁÒâÓë vÒã»ÈÌë ÎâïÖäÌä Ö’ áâÍÕâÑâï áâÕë Àë tÒâÓë Ñ½ÁÌí
»Òí Ðâ½ »âÑ »ÓÈí ÏïË Éæ ’Ò Àë áÌë vÒã»ÈÌçï ÑötÒç ÉâÒ
Àë¬

(a) Ñ½Á (b) ÌâÌçï Ñ½Á

(c) ÑëÅçlÔâ (d) »ÓíÅÓ~ç

26. Ïë ‘ÕâÇçáí ÖâÓâ ãÑÝí Àë áÌë ÖâÉë ÓÚë Àë, áë» áâÙÒ, ÍâÇä
áÌë ÍíØ» ÈtÕí ÍçÓâ ÍâÅë Àë ÁÒâÓë Ïä’ë ¼íÓâ» ÏÌâÕë Àë áÌë
ÍèÓí ÍâÅë Àë, Èí áâ Íý»âÓÌâ ‘ÕâÇçáíÌâ ÖÑnÕÒÌë .........
Éä áíÛ¼ä ×»âÒ

(a) ÑöÈíÍ‘Õä (b) ÍÓíÍ‘Õä

(c) sÕíÍ‘Õä (d) ÖÑÌvÒ ’ëÅâÇ

27. s»Õäô .............Ìä éÇÍÉä ÉÈí Óí½ Àë.

(a) ãÕÃâÑäÌ A (b) ãÕÃâÑäÌ C

(c) ãÕÃâÑäÌ B (d) ãÕÃâÑäÌ D

28. sÈïÐ-I ÖâÉë sÈïÐ-II Ìë ½íÄÕí áÌë Ìä¿ë áâÍëÔâ áï»Ì ÑâÃë
Öâ¿í ãÕ»lÍ ÍÖïÊ »Óí.

sÈïÐ-I sÈïÐ-II

(A) ÍëãÍáÓ Ñë¿ (i) ÌíÌ-ÏâÒíãÅ½ýëÅëÏÔ

(B) ÏÛëÔí »¿Óí (ii) ÕÑäô»mÍísÃäï½

(C) pÔâsÃä» (iii) »¿ÓâÌçï vÒÕsÉâÍÌ

(D) Ðè½ÐôÁÛÌí éÍÒí½ (iv) ÏâÒíãÅ½ýëÅëÏÔ
»ÓäÌë »¿ÓâÌí ãÌ»âÔ »ÓÕí

(E) ×â»Ðâ‘Ìâ ÀíÈÓâï (v) ÐýÑÇ

(a) (A)-(v), (B)-(iii), (C)-(i), (D)-(ii), (E)-(iv)
(b) (A)-(iii), (B)-(v), (C)-(i), (D)-(ii), (E)-(iv)
(c) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(v), (E)-(i)
(d) (A)-(i), (B)-(ii), (C)-(iv), (D)-(v), (E)-(iii)
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29. Which of the following is not a correct match?
(a) Petiole – attaches leaf to stem
(b) Lamina- green flat part of leaf
(c) Margin- gives shape to the leaf
(d) Veins – transpiration

30. Match column I with column II and select the
correct option from the codes given below.
Column I Column II

(A) Cheese, egg, milk 1. Vitamin A
(B) Guava, tomato, citrus fruit 2. Dietary fibres
(C) Fruits and vegetables 3. Vitamin C
(D) Carrot, Beetroot 4. Proteins

(a) a-1; b-3, c-2; d-4 (b) a-4; b-3, c-2; d-1
(c) a-3; b-1, c-2; d-4 (d) a-2; b-4, c-1; d-3

29. Ìä¿ëÌâÑâïÉä »íÇ Öâ¿çï ’ëÅ»çï ÌÉä¬

(a) ÍâïÊÅâÌçï ÅäïÃçï - sÃëÑ ÖâÉë ’ëÅâÒëÔçï ÍâÌ

(b) ÍÅ - ÍâÌÌí ÔäÔí ÖÍâÃ Ðâ½

(c) ½âÛí - ÍâÌÌë áâ»âÓ áâÍë

(d) ÌâÅä - étÖÁôÌ

30. sÈïÐ I áÌë sÈïÐ II Ìë ½íÄÕí áÌë Ìä¿ë áâÍëÔâ áï»ÌÑâïÉä
Öâ¿í ãÕ»lÍ ÍÖïÊ »Óí.

sÈïÐ I sÈïÐ II

(A) ¿äÂ, æïÅâ, ÊèË (1) ãÕÃâÑäÌ A

(B) ½çÕâÓ, ÃÑëÃâ,¼âÃâ ÎÛí (2) ¼âY ÓëØâáí

(C) ÎÛí áÌë ×â»Ðâ‘ (3) ãÕÃâÑäÌ C

(D) ½âÁÓ, ÏäÃ (4) ÍýíÃäÌ

(a) a-1; b-3, c-2; d-4 (b) a-4; b-3, c-2; d-1
(c) a-3; b-1, c-2; d-4 (d) a-2; b-4, c-1; d-3
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